GCSE 9 - 1 Questions

The Product Rule for Counting 2

Calculator Allowed

INSTRUCTIONS TO CANDIDATES
Write your name in the space provided.
Write your answers in the spaces provided in this question paper.
Answer ALL questions.

Any working should be clearly shown in the spaces provided since marks may
be awarded for partially correct solutions.

You should have a ruler, compass and protractor where required.

Total Marks : SOC/OT ( O S
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1) How many multiples of 7 are there from 17 to 107?
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Answer l ?D 2]

2) A 5p coin is flipped 6 times. How many possible outcomes are there?
CACH Time THE Coww (§ FLIAD
T 1Al oL opTiomS, Henos o TALCS

(D Tves means To THe Lot of é
AS  LE wNeEn To kwodw How MAWY

OV T ot e

6

QO = G

Answer é Q” [2]

Visit www.mathsnote.com for more resources




Page 3 of 11

3) The Mathsnote website is creating a new logo. It must have the 4 colours of

Blue, Green, Black and White, and 4 horizontal bars. How many ways can the new
logo be designed.
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Answer Q\ (+' [2]

4) If you have 5 baseball caps and 7 t-shirts, and any cap can be worn with any t-
shirt, in how many ways can you wear your caps and t-shirts?

5%?235

Answer ?) S [2]
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5) A tourist wants to fly from Riyadh to Oslo. She can fly from Riyadh to London,
Frankfurt, Istanbul or Moscow. From each of these cities there are three airlines
that fly to Oslo. In how many ways can she perform the journey?

L+ cities A0 D ARavES

be e D

Answer \ /D\ [2]

6) Nicole goes to buy herself a 3 course meal. She sees that there are 5 starters
and 5 desserts. She calculates that there are 175 possible ways to choose a start,
main and dessert. How many main meal options are there?
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Answer ; [2]
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7) Yousef goes into his favourite supermarket and sees they have 6 different
companies all selling different flavoured crisps. The flavours each company sell are
salt and vinegar, cheese, ketchup, chilli, ready salted and roast chicken. He does

not like ketchup flavour and will never select it. How many possible choices, that
he likes, does he have?
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Answer :)) @ [2]

8) Lethabo uses a 4 digit security code for his phone. He wants his age to be the
last two digits. Using the digits 0 to 9, and allowing that the digits can be repeated,

how many options does Lethabo have for his security code?
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Answer } O O [2]

Visit www.mathsnote.com for more resources




Page 6 of 11

9) Jade needs to create a 5 digit security code to enter her apartment. She want
the first 2 digits to be 84, and the last digit to be odd. Using the digits 0 to 9, and
allowing that the digits can be repeated, how many options can she choose?
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Answer S SIeD) [2]

10) Simon has a mixture of boys and girls in his class. He has 12 boys including
himself. Simon says to the teacher that there are 172 ways of choosing a boy and a
girl combination from the class. Explain how his teacher knows he is wrong?
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11) Four friends, Karen, Lina, Martin and Oscar are going to the cinema. They
want to sit together in a row. How many possible ways can they arrange
themselves in a row?
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Answer Q Lp 2]

12) How many three digit numbers greater than 651 can be formed using only the
even digits 2,4,6,8,0 without repeating the digits?
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Answer ’ S 2]
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13) Sophie's Cafe offers a post Covid afternoon tea. Its menu offers a choice of 7
sandwiches, 11 cakes and 4 hot drinks.

a) How many choices of afternoon teas (sandwich, cake, drink) are available?

7wy A~ L

Answer 30 g [2]

b) How many choices of sandwich and cake are offered?

+ <)

77

Answer

c) How many choices of cake and drink are offered?

|+ Y4

Answer L// QL’ [2]

d) How many choices of 2- or 3-option teas are available (assuming that a
cake is always ordered)?

o€+ FTF+ 4k

Answer

27 o
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14) Ruby is a swimmer who like to compete in races. In the Olympic swimming
pool where she competes, there are 9 other competitors. She is only concerned
with coming first, second or third. How many ways are there for Ruby to come first,

second or third in her race?
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15) British vehicle registration plates usually have 2 letters, 2 digits between 01
and 99, and finally 3 letters. How many registration plates are possible?
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Answer l|7-é2§é?_zq> [2]
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16) Sandy has 8 hats, 7 blouses, 4 coats, 9 skirts and 10 pairs of shoes.

a) How many different outfits are possible if she wears one of each of the above
items? (She cannot wear odd shoes)?

XN x FHr~+% 1O

Answer Z Z —+O [2]

b) If Sandy has the option of wearing one of three scarves and each of the above
items, how many different outfits are possible? Explain your answer

L2+ *3

Answer é % 2 O [2]
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17) In the first 6 games of the season Mathsnote FC won 2 games drew 2 games
and lost 2 games. How many different ways could these results have occurred?
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